Rank

Decimal Notation Scientific Notation 1 = smallest
7 = largest
= 1%x1072m
0.004 m =
200 m =
= 8 x10°m
40,000,000 m =
40 m =
= 8x10*m
Rank
Decimal Notation Scientific Notation 1 = smallest
7 = largest
= 1%x107%m
0.004 m =
200 m =
= 8 x 10°m
40,000,000 m =
40 m =

8x10*m

Rank
Decimal Notation Scientific Notation 1 = smallest
7 = largest
= 1%x1072m
0.004 m =
200 m =
= 8 x10°m
40,000,000 m =
40 m =
= 8x10*m
Rank
Decimal Notation Scientific Notation 1 = smallest
7 = largest
= 1%x1072m
0.004 m =
200 m =
= 8 x 10°m
40,000,000 m =
40 m =
= 8x10*m




